No. 3.

Sechon 3,R HW Solvhons Date ‘
1
Problem Ans Reason
’ (a) /54 Outcone 8[ 87_ @3 8‘1 9’{
(o) 4 wt 01 23 41 T3
(C) I7—$ : E, o o ’
(ol) 17 E, o % o
E; ~ v
EI’ " 4 ” ‘/,+l I3= ’77
EVE, *« ¢ P
g NEry ’
Eg, ¢ / '
E.nE ' 4 93 = 27
2 (a) L b5
) (L) .45
(<) o5 é F
[-,15 -,10 -, 10 = _&6¢

PF(EI) = 10 +,55 = ,¢&

Pr{EUF)= ,i6¢ . ,20+,t106 = ,495




No. 3. R

Date >
Pf:ob'c’m
3 (“) a?’
S
(b) o5 . B
(¢) .05
(4) L35
[ —,05 —.25-,35 =,3§
Pr(e’) = .35 +.,35= ,70
Pr(EUF)= ,05+ .25+ .35 = .65
P(‘(Enp’): 405
Pr{E'nP)= 35
4 (a) L#9 S
(L’) ¢ 59
(c) ,30
(d) ,15

Pr(gve)=.,3+,95=,%5
Pr(En(r’)= Pr(E) =.30

I-'— ,Lg—rla"rﬂg -'Zs "‘,l? N ’la

Pr(eve’)=rpPe(e)=.58
Pr(6nE)= .25




o

No.
Date
Prolem Ans Reason
5 '? Albresse  w= Pr[ O]
Ot ome [ 9| 87‘ G?
wt Zw w 3w
[= 2w + w +3W = b
w"'/(‘,
Oohml ©, @i 8‘;
wt ‘_lj lé Ji
6 |pe(e)e e Abbreviale v = pPrlE]
P~ (€ = l/"l

P-lEN= /3

wT

Event l E, E. £,

{
o
—_—
2\
>
Sl
\A;N




No. ’3, R

Date y
,'/”\V
Proalem Ans Reason
+ (a) .0
. s
() 19 é F
(< ¢
(—c2=.2
Pr(g)=I-Pe(E)= 1—¥4=.¢C
F,W(P) = 3,2 =.5
Pr(E)FE) = Pr(En)[ectp) = +3/s = Y5 =-C
n i
% g ¢ F [5

[—/1—13"’3 = .3

Pe(pPl= I—PrlFY= 1-,9=,6

.5

= pr(6IF) = pr(enf)/pr(r) = Polene)

L4

Pr(EnF): (/5)"(06) = ,3

P(-(E/F’) = Pr‘(Em:’)/Pr'(F')
= II - J
P

7




No. g; K

Date 5
PI""‘ }lém Anj Re‘ls s
_ ‘ 7
9 1
)
\))‘:S rrT
|- %5 7%= 4
Pr(wsT) = = Pr(nvr) = &
pe(wssnwer) = L% = 4
)
’ { - =1
Led= 4 7=
0 (2] indey P-(enF) = Pr(€) Pr ()
@’ Net adep S .3 4
((‘) andep

Pr{EnG) ¥ Pri€) Pr(6)

e —

Y .3 ;9
Pr(Fne) = fr(F) Pr(6)
-—— —_— A"

t?“ ,,‘f’ 19

Pr(FNn&)= Pe(F) + Prl6) —PrlFUE)
= L, k.5 = L
= .2




No.
Date G
[:\. ,‘alCm A’V\S Re&(s on
q 5[
< e
[— 35 -2 =0 F L0
pr(PlF) = Pc(PaF) . .25 =28 .5
f’((F) :60
' {
iR A} sthrt
)
pe(xl8)= er(xns) _ (2 X-2)
Pr(0) (b2 2|+ (2).6]
= L
= ? = ‘g’z (3

4 + 99




A

No. 3.
Date :;L

P(:UD‘CM

Ans

Reason
l i |
3 /e f@ ebJ ¢ balls
3 bb
34/\,
BC(‘I»OU“ ‘h’»&
Svccess * Chorur  grten b ot
p = 7’/6 = I/3
£ Yo = s
Pr(wt/eus(': 2 blie M%‘/’ at Heaik ra 3 ) e)
=z pr.(a,”,.,z fwt"f‘ll Lata)y aub-{‘f>
=z Pr( a2 Mc{‘f)/p,.((,,,zn@ A7)
= C(?t’)f"i; t+ C(‘I,‘L,fl'gt
('(“w)mg; Claz) p5°¢ LC(‘I,S)/37
T <l M L
‘213 (\=/a | 113 2~ » .
IGT T RIS v g el
= ? '\'6 = ..i = ?‘
Brée v Le K
4 @ %l Pr(elF) = Pr(EnF) = .25 =25_.55. 5.
Pe(F) . GO co  Sur
y
e /y P- (en€]= PrlE) ——Pr(Emz’)
= ,90— ,25
= L85
re(elF)- pelend) | ir o o L
Pr(F) .60 °
© ,29 = Y Pr(en€) = Pr(£) Pr(F)

= (/40 )(, 6 0‘)

224




No. 3. K

Date g

-

Prodlem Ans Reasen
\5 A
3
Choose A
Sample space S ¢ 2-elemet subscts ¢ Ae
at g 2 mice
Ewent A at Least me M
Eat B % madly ne W
Pr(#18Y=  P~( AnB) [ Pr(B)
BT A so Ang = 6 Pr(Al8) =1
N ke - Hreso
Q-U'

p(-(: HT = 40 ] Km] = Pr[nraqo and. Rw«)
PrlRRawn)

N
N
LY
(V)]
u

=32 =Y
¢




No. 3.k

bate
9

Fe b e Ans @
€ason

* it

to0~-39-3—10-4L

%

39

P([e/xmd{, 1 ﬁ‘wora/b({j - 316+ L

Lo C

=2, Y%

} e |
4{ 1T L4 a § Catns
1 d P
1 "
Ao <r
Choase

G | 9 395 30

D 20 19

N lo

P, ( el 2 20 | ot | @) = Pr((ﬁ"p,‘v“, »p Q/é_ Pr(@e)>

3L 3% & 4 :
= <@ can Ha o, e+tIt
i — C(3.2) 79 — 3
AN 2‘)




No. 2R

Date lO
Prodlem Ans R caSon
lq w Bcrn du/o‘ ‘A/L‘Zo/
3 z =t - =
: F= 6 3 F - -
Pr(3n?~ff“ﬂ = C(1a3) /37 *‘f(M*)F4?3
3,7 ?"3
:[Zoztf *‘:LZOXVLZZ
py=
~ 120136 _ [¢329
7 5 to
1% A ) = =0 —Cr( ~00 At
20 %& P{'(,vp’t all §ame r(a,&er\e(f) /(obéf/
5 —"/)r(d(’[;tu&}
' s
Priatt o) = (%) Prl a0 whita)= (L]
2,5
Pr(Elllue) = (/4:)
Y » I 2 5 _ F Soo
» R N e A e L
-
2/ f:;_(/" Ftavr»é P such Al

5

C(“’/q) f)4(l’f)é = C((Olg)f’s(l—f)

M/({’/’} = Lo 1/%‘ P
ATES Y
s Ly
[ = prte= 5¢ F:%/




No. 3.k

Date l )

P(" o in Ans R casom
T A
9
() £
<
£ T
¢ e
Park»ru‘ LD"
20
1 A ¢ 3 (s
Z.,‘/ < < -4 F = = ”L
C ) 2 PF(J Car is ) 2 - e 5 v >
(b) f 3/0 * E~ B _}2/0 _ g_ ,'.(’; - ﬁ
z A




- No. ?,f
) Date [
P,/dlolem Ans
- 7/4 /QC@S'W
<f<"4 ;cw)““ .
%OJV,;LO
|
o [F|atzc] = [ PaGey]
| e =N
) = 20 =20 = 2
20 +L0 30 3
26 (V4
[ 2 3 4 ¢
(6) s 1 -
(< ( | B E @
: |ee € € B @
3 e . LC g
i | e e @ @ € e
9 ’ é@ E + E
¢ | AEE € E €

eLent &f- al Lensk e e

Lot O7 svm s 3 Cicet A5f</m s T
b (0 E) = pelone)/er(ey = V= Y
pe(Efo) =rPrlone)/eclo) = 35

Pr(BID) = P (ens)fo sy = P2
Prif) vl




No. gd @

Date L3

seor b Ans Reas on
2+ (2)  ls R
4N
(b) 7/5 Cachq L2, 6,9 e Lieel
(C) ?/“' 3ol 45 e eem
[at) :'//(fu

————— —— ——————

/r
ek 4 |, z,q,é,,i«qfé;/fy{
Pr (@M/<§00) = F- (M a~d <§00}/Fr (4§00)

= /\(WWCgV”)/n<cgoa)

iz 4 ¢ 9
( . x e
Coom ad <500 ) .
4 s e
b
9
A(Mw<§oa); F5 =2/
n( <soel = 3-%4-35 7 3¢

2367 22

Pr(<souf €] = rr( E.tcisoo)/ P-LE)

=a( £ ansse)/p(E)

h(bl).: ?"4’? :',gé




2. R
L7

No.

Date

K Easan

/AW»S

g Cains

2.9

{

Q)

" \as

e

2
%%

3/5'

(e)

At
}f

e

w0

2%




No.
_ Date |5
P(’\ >i{/m /47\/5 [8@&,-5 o
e |0 vt ]
(b) L/?
Euhwquh? b e
3.8 batl
L R IS
] J
- whboee 3 ety ,&Z,,..,ZZ«, L.L,g
’BO BC"/\—UL/LL‘
o= Ve e = 7o
o) ¢t « cCias) P2+ Cliatlp'y + Cluaic)p*”
| — Cliapre — Clonp?
(2o G1'G SEE + 10l) 3 + (1)
[— (2)° = o+
3’ P: ,6 71,‘/

c ¢ -
Cle.6l e’ + Clwtlpts’ e Clint)e’s™ + Clat)re

/_/~ FlO_’ ?/16




No. 3. R
Date [¢
P(: >*’/'“ Ans Reas on
32 |((Q) 45
(") ‘/Z 0 :ap
. L
() °I8 i
(=28 =I5 =15 = %5
p (Llo) = Pr(r_nDJ/ Pr(o)
- 415 = _L/f 7/‘
3o o &
) Pr(L] Lad buxnsthh) =M
Pr(Lno’) +Pr(L'N0)
v____’_ii-—/——— = _——/L( %z%—”%
LSS 75 t+¥5
z 7
33| (] C(52) (o) (o)
(5) sy,
. 3
;ll C(gbL)(:uL) (,‘l?)
&
[ — Cul —SCoz)-)
. g £
39 &22 7 e




